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1. Solve the initial value problem: y"'+2y'+y =06 (t—2)with y(0)=0 and y'(0) =1, where
o (t) isaunitimpulse function. (25%)

2. The Fourier integral is defined as : f(x) = l.[:j[A(a)) cosw X + B(w)sinw x]dw , where
T

A(w):ji f (x)cosew X dx, B(w)=ji f (x)sin e xdx.

* x>0
0, x<0

(1) Find the Fourier integral of f(x)= {e

(2) Find the value of the resulting integral at x =0 and verify that J.:ld wz =% (25%)
+ o
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3. If A= , find
-1 3
(a) the eigenvalues and generalized eigenvectors of A;

o e (25%)

2
4. Solve £=6LZJ :
ot oy

subjectto U(0,t)=U(x,t)=0,U(y,0)=siny. (25%)



